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QUESTION 1
What are three industry best practices for configuration management? (Choose three.)

A. Define a consistent device naming convention.
B. Use a central logging server.

C. Use the rollback feature frequently.

D. Back up all of the configurations frequently.

E. Use descriptive fields in device configurations.
Answer: ADE

QUESTION 2

A hospital has issued an RFP for a full network refresh. The RFP focuses on the users,
applications, and bandwidth.
Which two realistic assumptions would be inferred about this network? (Choose two.)

Regulatory requirements must be considered.
Network downtime will not be tolerated.

WiFi services must support video.

Quality of service (Q0S) is not necessary.

00>

Answer: AB

QUESTION 3
Which device plays the role of authenticator in an 802.1X design as shown in the exhibit?

M\ Exhibit
Device Device Device
A B C
= -— Layer 2
o—25 S Network
Host IP Phone EXx Series Device
Switch D
RADIUS Server
A. Device C
B. Device A
C. Device D
D. Device B
Answer: A
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QUESTION 4

In your network design, you must ensure that all user sessions passing through an SRX Series
device remain active if there is a device failure.

Which mechanism will accomplish this design requirement?

chassis clustering
MC-LAG

Virtual Chassis
VRRP
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Answer: A

QUESTION 5

Your customers new network contains network devices from multiple vendors. You have been
asked to propose two technologies that will work among all the vendors' networking equipment.
Which two technologies can you recommend for the design? (Choose two.)

A. RSVP
B. EIGRP
C. PVST
D. LDP
Answer: AD
QUESTION 6

Which two statements are true in regards to network capacity planning? (Choose two.)

A. The application behavior is important.

B. The application behavior is not important.

C. The network management platform is not important.
D. The network management platform is important.

Answer: AC

QUESTION 7
You are designing a network in which access between different groups must be tightly restricted.
What should you do to accomplish this task?

Use a firewall with security policies to control the traffic.
Use a switch with Layer 2 ACLs to control the traffic.
User a router with Layer 3 ACLs to control the traffic.
Use a Web filtering device to control Layer 7 traffic.
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Answer: A

QUESTION 8
Which statement describes brownfield deployments?

A. Brownfield deployments allow for more modular and scalable design than greenfield
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deployments.
B. Brownfield deployments are commonly used and can be restrictive.
C. Brownfield deployments are considered more expensive than greenfield deployments.
D. Brownfield deployments use all new equipment.

Answer: B

QUESTION 9
You want to view logs and generate basic usage reports from network devices. Which three tools
would you use to satisfy the requirements? (Choose three.)

local logging on your PC
on-box logging

Junos Space Log Director
third-party log management

big data solutions using Hadoop
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Answer: BCD

QUESTION 10
What should be the first item in your network design checklist?

A validation process for analyzing customer's existing environment.

A process for selecting protocols, address schemes, and naming conventions.
A process for understanding the customer's business and technical goals.
The steps for designing a network topology.
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Answer: C

QUESTION 11
In reviewing the customer's IT organization, you must determine the corporate model for IT
funding. Which two models would you encounter in this scenario? (Choose two.)

direct revenue model
cost center

profit center
investment center
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Answer: BC
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